



Title	Finite energy solutions of nonlinear Schrödinger equations of derivative type
Author(s)	Hayashi, N.; Ozawa, T.
Citation	Hokkaido University Preprint Series in Mathematics, 191, 1-21
Issue Date	1993-03
DOI	10.14943/83335
Doc URL	http://hdl.handle.net/2115/68937
Type	bulletin (article)
File Information	pre191.pdf



[Instructions for use](#)

**Finite Energy Solutions of Nonlinear
Schrödinger Equations of Derivative Type**

N. Hayashi and T. Ozawa

Series #191. March 1993

HOKKAIDO UNIVERSITY
PREPRINT SERIES IN MATHEMATICS

- # 164: Y. Giga, M. Sato, Neumann problem for singular degenerate parabolic equations, 12 pages. 1992.
- # 165: J. Wierzbicki, Y. Watatani, Commuting squares and relative entropy for two subfactors, 18 pages. 1992.
- # 166: Y. Okabe, A new algorithm driven from the view-point of the fluctuation-dissipation theorem in the theory of KM_2O -Langevin equations, 13 pages. 1992.
- # 167: Y. Okabe, H. Mano and Y. Itoh, Random collision model for interacting populations of two species and its strong law of large numbers, 14 pages. 1992.
- # 168: A. Inoue, On the equations of stationary processes with divergent diffusion coefficients, 25 pages. 1992.
- # 169: T. Ozawa, Remarks on quadratic nonlinear Schrödinger equations, 19 pages. 1992.
- # 170: T. Fukui, Y. Giga, Motion of a graph by nonsmooth weighted curvature, 11 pages. 1992.
- # 171: J. Inoue, T. Nakazi, Finite dimensional solution sets of extremal problems in H^1 , 10 pages. 1992.
- # 172: S. Izumiya, A characterization of complete integrability for partial differential equations of first order, 6 pages. 1992.
- # 173: T. Suwa, Unfoldings of codimension one complex analytic foliation singularities, 49 pages. 1992.
- # 174: T. Ozawa, Wave propagation in even dimensional spaces, 15 pages. 1992.
- # 175: S. Izumiya, Systems of Clairaut type, 7 pages. 1992.
- # 176: A. Hoshiga, The initial value problems for quasi-linear wave equations in two space dimensions with small data, 25 pages. 1992.
- # 177: K. Sugano, On bicommutators of modules over H-separable extension rings III, 9 pages. 1993.
- # 178: T. Nakazi, Toeplitz operators and weighted norm inequalities, 17 pages. 1993.
- # 179: O. Ogurisu, Existence and structure of infinitely degenerate zero-energy ground states of a Wess-Zumino type model in supersymmetric quantum mechanics, 26 pages. 1993.
- # 180: O. Ogurisu, Ground state of a spin 1/2 charged particle in an even dimensional magnetic field, 9 pages. 1993.
- # 181: K. Sugano, Note on H-separable Galois extension, 6 pages. 1993.
- # 182: M. Yamada, Distance formulas of asymptotic Toeplitz and Hankel operators, 13 pages. 1993
- # 183: G. Ishikawa, T. Ozawa, The genus of a connected compact real algebraic surface in the affine three space, 11 pages. 1993.
- # 184: T. Hibi, Canonical modules and Cohen-Macaulay types of partially ordered sets, 6 pages. 1993.
- # 185: Y. Giga, K. Yama-uchi, On a lower bound for the extinction time of surfaces moved by mean curvature, 16 pages. 1993.
- # 186: Y. Kurokawa, On functional moduli for first order ordinary differential equations, 9 pages. 1993.
- # 187: O. Ogurisu, Unitary equivalence between a spin 1/2 charged particle in a two-dimensional magnetic field and a spin 1/2 neutral particle with an anomalous magnetic moment in a two-dimensional electric field, 4 pages. 1993.
- # 188: A. Jensen, T. Ozawa, Existence and non-existence results for wave operators for perturbations of the laplacian, 30 pages. 1993.
- # 189: T. Nakazi, Multipliers of invariant subspaces in the bidisc, 12 pages. 1993.
- # 190: S. Izumiya, G.T. Kossioris, Semi-local classification of geometric singularities for Hamilton-Jacobi equations, 24 pages. 1993.

Finite Energy Solutions of Nonlinear Schrödinger Equations of Derivative Type

NAKAO HAYASHI¹ AND TOHRU OZAWA

Laboratoire de Physique Théorique et Hautes Energies
Bâtiment 211, Université de
Paris Sud, 91405 Orsay, France

and

Department of Mathematics, Hokkaido University
Sapporo 060, Japan

Abstract. This paper is concerned with the initial value problem for nonlinear Schrödinger equations of the form

$$(*) \quad \begin{cases} i\partial_t \psi + \partial_x^2 \psi = i\lambda \partial(|\psi|^2 \psi) + \lambda_1 |\psi|^{p_1-1} \psi + \lambda_2 |\psi|^{p_2-1} \psi, & (t, x) \in \mathbb{R} \times \mathbb{R}, \\ \psi(0, x) = \phi(x), & x \in \mathbb{R}, \end{cases}$$

where $\partial = \partial_x = \partial/\partial x$, $\lambda, \lambda_1, \lambda_2 \in \mathbb{R}$, and $2 \leq p_1 < p_2 < 5$. It is shown that if $\phi \in H^1(\mathbb{R})$ and

$$\|\phi\|_2^2 < \frac{2\pi}{|\lambda|},$$

then there exists a unique global solution ψ of (*) such that

$$\psi \in C(\mathbb{R}; H^1(\mathbb{R})).$$

In this paper we introduce a new method to obtain the result.

Key words. Derivative Nonlinear Schrödinger Equations, Gauge Transformations.
AMS(MOS) subject classifications. 35Q55, 35Q60.

¹On leave of absence from Department of Mathematics, Faculty of Engineering, Gunma University, Kiryu 376, Japan

§1. Introduction. In this paper we study the Cauchy problem for nonlinear Schrödinger equations of the form

$$(1.1) \quad \begin{cases} i\partial_t \psi + \partial^2 \psi = i\lambda \partial(|\psi|^2 \psi) + F(\psi), & (t, \mathbf{x}) \in \mathbb{R} \times \mathbb{R}, \\ \psi(0, \mathbf{x}) = \phi(\mathbf{x}), & \mathbf{x} \in \mathbb{R}, \end{cases}$$

where ψ is a complex valued function of $(t, \mathbf{x}) \in \mathbb{R} \times \mathbb{R}$, $\partial = \partial/\partial \mathbf{x}$, $\lambda \in \mathbb{R}$ and $F \in C^2(\mathbb{R}^2; \mathbb{R}^2)$ satisfies the gauge condition $F(e^{i\theta} \zeta) = e^{i\theta} F(\zeta)$, $\theta \in \mathbb{R}$.

We assume that F can be written as $F = F_1 + F_2$ with $F_j \in C^2(\mathbb{R}^2 \setminus \{0\}; \mathbb{R}^2)$, $j = 1, 2$, satisfying $F_j'' \in L_{loc}^\infty(\mathbb{R}^2)$, $F_j(0) = F_j'(0) = 0$ and there exist positive constants C_j, D_j such that

$$(1.2) \quad \begin{cases} |F_j(\zeta) - F_j(\zeta')| \leq C_j (|\zeta|^{p_j-1} + |\zeta'|^{p_j-1}) |\zeta - \zeta'|, \\ |F_j'(\zeta) - F_j'(\zeta')| \leq D_j (|\zeta|^{p_j-2} + |\zeta'|^{p_j-2}) |\zeta - \zeta'|, \end{cases}$$

where $2 \leq p_1 < p_2 < 5$. Furthermore we assume that there exists a function $H \in C^1(\mathbb{R}^2; \mathbb{R})$ satisfying $H(0) = 0$, $F = \partial H / \partial \bar{\zeta}$ and

$$(1.3) \quad \int_{\mathbb{R}} H(f) dx \geq -M(\|f\|_2) - \mu \|f\|_6^6 \quad \text{for all } f \in H^1(\mathbb{R})$$

where $\mu \in \mathbb{R}^+$, $M \in C(\mathbb{R}^+; \mathbb{R}^+)$. Under the above conditions we prove

Theorem 1. *We assume that (1.2), (1.3) are satisfied, $\phi \in H^1(\mathbb{R})$ and $\|\phi\|_2^2 < \frac{2\pi}{\sqrt{\lambda^2 + 16\mu^2}}$. Then there exists a unique global solution ψ of (1.1) such that*

$$\psi \in C(\mathbb{R}; H^1(\mathbb{R})) \cap L_{loc}^4(\mathbb{R}; W^{1,4}(\mathbb{R})).$$

Moreover, the map $\phi \mapsto \psi$ is continuous from $\{\phi \in H^1(\mathbb{R}); \|\phi\|_2^2 < 2\pi/\sqrt{\lambda^2 + 16\mu^2}\}$ with topology induced from $H^1(\mathbb{R})$ to $C(\mathbb{R}; H^1(\mathbb{R})) \cap L_{loc}^4(\mathbb{R}; W^{1,4}(\mathbb{R}))$.

We prove that our result applies to the example

$$(1.4) \quad F(\psi) = \lambda_1 |\psi|^{p_1-1} \psi + \lambda_2 |\psi|^{p_2-1} \psi,$$

where $2 \leq p_1 < p_2 < 5$, $\lambda_1, \lambda_2 \in \mathbb{R}$. First it is clear that (1.4) satisfies (1.2) (see, e.g., [6]). Secondly we have

$$(1.5) \quad \int_{\mathbb{R}} H(\psi) dx = \frac{2\lambda_1}{p_1 + 1} \|\psi\|_{p_1+1}^{p_1+1} + \frac{2\lambda_2}{p_2 + 1} \|\psi\|_{p_2+1}^{p_2+1}.$$

We deduce (1.3) from (1.5). By Hölder's inequality we have

$$\|f\|_{p+1}^{p+1} \leq \|f\|_6^{\frac{3(p-1)}{2}} \|f\|_2^{\frac{5-p}{2}},$$

from which we see that for any $\varepsilon > 0$, there exists a positive constant C_ε such that

$$\|f\|_{p+1}^{p+1} \leq \varepsilon \|f\|_6^6 + C_\varepsilon \|f\|_2^2.$$

We obtain by this and (1.5)

$$\int_{\mathbb{R}} H(\psi) dx \geq -C_{\varepsilon'} \|f\|_2^2 - \varepsilon' \|f\|_6^6,$$

where $\varepsilon' = \sum_{j=1}^2 \frac{2|\lambda_j|}{p_j+1} \varepsilon$, $C_{\varepsilon'} = \sum_{j=1}^2 \frac{2|\lambda_j|}{p_j+1} C_\varepsilon$, which implies (1.3) with $\mu = \varepsilon'$. Hence we have by Theorem 1

Corollary 1. *We let $F(\psi) = \sum_{j=1}^2 \lambda_j |\psi|^{p_j-1} \psi$, where $2 \leq p_1 < p_2 < 5$. We assume that $\phi \in H^1(\mathbb{R})$ and $\|\phi\|_2^2 < \frac{2\pi}{|\lambda|}$. Then the same result of Theorem 1 holds valid.*

In the case of $F(\psi) \equiv 0$, Theorem 1 was proved in [4] (see also [3]) by using the result of [9, Theorem 3] which ensures the existence of global smooth solutions of (1.1) with $F(\psi) \equiv 0$. When $F(\psi) \not\equiv 0$, the result [9, Theorem 3] is not applicable, and therefore we need a different method from the previous ones (see [3], [4]). We state our strategy of the proof of Theorem 1 for the convenience of the reader. To obtain the result we first consider the system of nonlinear Schrödinger equations

$$(1.6) \quad \begin{cases} Lu = -i\lambda u^2 \bar{v} + F(u), \\ Lv = i\lambda v^2 \bar{u} + \partial_u F(u) \cdot v + \partial_{\bar{u}} F(u) \cdot \bar{v} \\ u(0) = u_0, v(0) = v_0. \end{cases}$$

with the constraint

$$(1.7) \quad v_0 = \partial u_0 + i \frac{\lambda}{2} |u_0|^2 u_0.$$

The initial value problem of (1.6) without constraint (1.7) fits in the framework of the previous methods as in [7], [8], [10], [11] by making use of the space-time estimates of solutions to the linear Schrödinger equation. We first give the basic results about (1.6) in section 2 (see Propositions 2.1 - 2.3). Secondly we prove the existence of solutions to (1.6) with constraint (1.7) in Propositions 2.4 - 2.5. In Proposition 2.4, we prove the unique existence of $H^2 \times H^2$ solutions to (1.6) and the invariance of the constraint $v = \partial u + i(\lambda/2)|u|^2 u$. The proof of the invariance requires the gauge condition of F . In Proposition 2.5, we prove that the unique existence of solutions to (1.6) still holds for the data with minimal regularity assumption $(u_0, v_0) \in H^1 \times L^2$ under constraint (1.7) which is to be invariant under the time evolution. The proof of Proposition 2.5 requires the smallness condition of u_0 in the L^2 -norm.

In Theorem 2 we show that Proposition 2.5 implies the existence of a unique local solution to (1.1) in H^1 through the relation

$$u_0 = \exp(-i\lambda \int_{-\infty}^{\infty} |\phi| dy) \phi.$$

Finally we prove Theorem 1 by a priori estimates of local solutions to (1.1).

In [5], we studied the nonlinear Schrödinger equations of the form

$$(1.8) \quad \begin{cases} i\partial_t u + \partial^2 u = F(u, \partial u, \bar{u}, \partial \bar{u}), \\ u(0) = u_0, \end{cases}$$

where $F : \mathbb{C}^4 \rightarrow \mathbb{C}$ is a polynomial having neither constant nor linear terms. We showed the existence of a unique local solution of (1.8) when the data satisfy conditions such as $u_0 \in H^3$ and $xu_0 \in H^2$. The mixed nonlinear Schrödinger equations

$$i\partial_t u + \partial^2 u = i\beta u^2 \partial \bar{u} + i\gamma |u|^2 \partial u + g(|u|^2)u$$

was studied by [1] by energy methods, where $\beta, \gamma \in \mathbb{R}$ and $g : \mathbb{R} \rightarrow \mathbb{R}$ is a function satisfying some regularity conditions. They established existence and uniqueness of global smooth solutions in H^s for $s \geq 3$ under some smallness condition on the data.

In the case where the underlying space is a bounded domain $\Omega = (0, \ell)$ with $\ell > 0$, the global existence of $H_0^1(\Omega)$ solutions of the equation

$$i\partial_t u + \partial^2 u = i\lambda \partial(|u|^2 u) + \alpha |u|^\rho u, \quad t > 0, x \in \Omega,$$

with Dirichlet zero condition was shown in [2] under the smallness condition of the $H_0^1(\Omega)$ norm of the data, where $\lambda, \alpha \in \mathbb{R}$, and $\rho \geq 2$.

We conclude this section by giving notations. We abbreviate $\partial/\partial u$ to ∂_u . By \bar{u} we denote the complex conjugate of u . We let $L^p = \{f; f \text{ is measurable on } \mathbb{R}, \|f\|_p < \infty\}$, where $\|f\|_p^p = \int_{\mathbb{R}} |f(x)|^p dx$ if $1 \leq p < \infty$ and $\|f\|_\infty = \text{ess. sup}\{|f(x)|; x \in \mathbb{R}\}$ if $p = \infty$, and we let $W^{m,p} = \{f \in L^p; \|f\|_{W^{m,p}} = \sum_{j=0}^m \|\partial^j f\|_p\}$. For simplicity we put $W^{m,2} = H^m$. We denote by (\cdot, \cdot) the inner product in L^2 . For any interval I of \mathbb{R} and a Banach space B with norm $\|\cdot\|_B$, we let $C(I; B)$ be the space of continuous functions from I to B and $L^p(I; B)$ the space consisting of strongly measurable B valued functions $u(\cdot)$ defined on I such that $\int_I \|u(t)\|_B^p dt < \infty$. Different positive constants will be denoted by the same letter C . If necessary, by $C(*, \dots, *)$ we denote constants depending on the quantities appearing in parentheses.

§2. Proof of Theorem 1. We consider the system of nonlinear Schrödinger equations of the form:

$$(2.1) \quad \begin{cases} Lu = -i\lambda u^2 \bar{v} + F(u), \\ Lv = i\lambda v^2 \bar{u} + \partial_u F(u) \cdot v + \partial_u F(u) \bar{v}, \\ u(0) = u_0, v(0) = v_0, \end{cases}$$

where $L = i\partial_t + \partial_x^2$. In what follows we assume that (1.2) and (1.3) are satisfied. For simplicity we restrict our attention to positive times since the problem is treated analogously for negative times.

To obtain Theorem 2 stated below we need the following Propositions.

Proposition 2.1. *We assume that $u_0 \in L^2$ and $v_0 \in L^2$. Then there exist unique solutions u, v of (2.1) and a positive constant T such that*

$$u, v \in C([0, T]; L^2) \cap L^4(0, T; L^\infty).$$

For the proof, see [8, Theorem IV].

Proposition 2.2. *We assume that $u_0 \in H^2$ and $v_0 \in H^2$. Then there exist unique solutions u, v of (2.1) such that*

$$u, v \in C(0, T]; H^2) \cap L^4(0, T; W^{2,\infty})$$

for the same T as that given in Proposition 2.1.

For the proof, see [8, Theorem V]

Proposition 2.3. *We assume that $u_0^{(n)}, v_0^{(n)} \in H^2$, $u_0, v_0 \in L^2$ and $\|u_0^{(n)} - u_0\|_2 + \|v_0^{(n)} - v_0\|_2 \rightarrow 0$ as $n \rightarrow \infty$. We let $u^{(n)}$ and $v^{(n)}$ be the solutions constructed in Proposition 2.2 with data $u_0^{(n)}$ and $v_0^{(n)}$, respectively, and we let u and v be the solutions constructed in Proposition 2.1 with data u_0 and v_0 , respectively, where T is the same one as that given in Proposition 2.1. Then we have*

$$\begin{aligned} & \sup_{0 \leq t \leq T} \|u^{(n)}(t) - u(t)\|_2 + \sup_{0 \leq t \leq T} \|v^{(n)}(t) - v(t)\|_2 \\ & + \left(\int_0^T \|u^{(n)} - u(t)\|_\infty^4 dt \right)^{1/4} + \left(\int_0^T \|v^{(n)}(t) - v(t)\|_\infty^4 dt \right)^{1/4} \\ & \rightarrow 0 \quad \text{as } n \rightarrow \infty. \end{aligned}$$

For the proof, see [8, Theorem I']

By using Proposition 2.2 we now prove

Proposition 2.4. *We assume that $u_0 \in H^2$, $v_0 \in H^2$ satisfy the condition*

$$v_0 = \partial u_0 + i \frac{\lambda}{2} |u_0|^2 u_0.$$

Then there exist unique solutions u, v of (2.1) such that

$$u, v \in C([0, T]; H^2) \cap L^4(0, T; W^{2, \infty})$$

and

$$v = \partial u + i \frac{\lambda}{2} |u|^2 u \quad \text{in } C([0, T]; L^2)$$

for the same time T as that given in Proposition 2.1.

Proof. By Proposition 2.2 it is sufficient to prove that

$$(2.3) \quad \sup_{0 \leq t \leq T} \|v(t) - (\partial u(t) + i \frac{\lambda}{2} |u|^2 u(t))\|_2 = 0.$$

A direct calculation gives

$$(2.4) \quad L(\partial u) = \partial Lu = -2i\lambda u \bar{v} \partial u - i\lambda u^2 \partial \bar{v} + \partial_u F(u) \cdot \partial u + \partial_{\bar{u}} F(u) \cdot \partial \bar{u}$$

$$(2.5) \quad \begin{aligned} L(|u|^2 u) &= 2|u|^2 Lu + 2(\partial u)^2 \bar{u} + 4u|\partial u|^2 + u^2(-\overline{Lu} + 2\partial^2 \bar{u}) \\ &= 2|u|^2(-i\lambda u^2 \bar{v} + F(u)) + 2(\partial u)^2 \bar{u} + 4u|\partial u|^2 \\ &\quad + 2u^2 \partial^2 \bar{u} - u^2(i\lambda \bar{u}^2 v + \overline{F(u)}) \quad (\text{by (2.1)}) \\ &= -2i\lambda |u|^2 u^2 \bar{v} + 2(\partial u)^2 \bar{u} + 4u|\partial u|^2 + 2u^2 \partial^2 \bar{u} \\ &\quad - i\lambda |u|^4 v + (2|u|^2 F(u) - u^2 \overline{F(u)}). \end{aligned}$$

We put $w = \partial u + \frac{i\lambda}{2}|u|^2 u$, then we have by (2.4) and (2.5)

$$\begin{aligned} Lw &= -2i\lambda u \bar{v} \partial u - i\lambda u^2 \partial \bar{v} + \lambda^2 |u|^2 u^2 \bar{v} + i\lambda (\partial u)^2 \bar{u} \\ &\quad + 2i\lambda u |\partial u|^2 + i\lambda u^2 \partial^2 \bar{u} + \frac{\lambda^2}{2} |u|^4 v \\ &\quad + \left[\frac{i}{2} \lambda (2|u|^2 F - u^2 \bar{F}) + \partial_u F \cdot \partial u + \partial_{\bar{u}} F \cdot \partial \bar{u} \right]. \end{aligned}$$

Hence by the second identity of (2.1) we get

$$(2.6) \quad \begin{aligned} L(w - v) &= -2i\lambda u \bar{v} \partial u - i\lambda u^2 \partial \bar{v} + \lambda^2 |u|^2 u^2 \bar{v} + i\lambda (\partial u)^2 \bar{u} \\ &\quad + 2i\lambda u |\partial u|^2 + i\lambda u^2 \partial^2 \bar{u} + \frac{\lambda^2}{2} |u|^4 v - i\lambda v^2 \bar{u} \\ &\quad + \left[\frac{i}{2} \lambda (2|u|^2 F - u^2 \bar{F}) + \partial_u F (\partial u - v) + \partial_{\bar{u}} F (\partial \bar{u} - \bar{v}) \right]. \end{aligned}$$

We denote the j -th term of the right hand side of (2.6) by I_j . By using the definition $w = \partial u + \frac{i\lambda}{2}|u|^2 u$ we obtain

$$\begin{aligned} I_1 &= -2i\lambda u \bar{v} \partial u \\ &= 2i\lambda u (\bar{w} - \bar{v}) \partial u - 2i\lambda u \overline{\left(\partial u + \frac{i\lambda}{2} |u|^2 u \right) \partial u} \\ &= -2i\lambda u (\bar{w} - \bar{v}) \partial u - I_5 - \lambda^2 |u|^4 \partial u. \end{aligned}$$

This implies

$$(2.7) \quad I_1 + I_5 = 2i\lambda u (\bar{w} - \bar{v}) \partial u - \lambda^2 |u|^4 \partial u.$$

We have

$$\begin{aligned}
(2.8) \quad I_2 &= -i\lambda u^2 \partial \bar{v} \\
&= i\lambda u^2 (\partial \bar{w} - \partial \bar{v}) - i\lambda u^2 \overline{\partial(u + \frac{i\lambda}{2}|u|^2 u)} \\
&= i\lambda u^2 \partial(\bar{w} - \bar{v}) - I_6 - \frac{\lambda^2}{2} u^2 \partial(|u|^2 \bar{u}).
\end{aligned}$$

Since

$$\begin{aligned}
-\frac{\lambda^2}{2} u^2 \partial(|u|^2 \bar{u}) &= -\frac{\lambda^2}{2} |u|^4 \partial u - \lambda^2 |u|^2 u^2 \partial \bar{u} \\
&= -\frac{\lambda^2}{2} |u|^4 (w - v) + \frac{\lambda^2}{2} |u|^4 (\frac{i\lambda}{2} |u|^2 u - v) - \lambda^2 |u|^2 u^2 \partial \bar{u} \\
&= -\frac{\lambda^2}{2} |u|^2 (w - v) + \frac{i\lambda^3}{4} |u|^6 u - \lambda^2 |u|^2 u^2 \partial \bar{u} - I_7,
\end{aligned}$$

we obtain from (2.8)

$$(2.9) \quad I_2 + I_6 + I_7 = i\lambda u^2 \partial(\bar{w} - \bar{u}) - \frac{\lambda^2}{2} |u|^2 (w - v) + \frac{i\lambda^3}{4} |u|^6 u - \lambda^2 |u|^2 u^2 \partial \bar{u}.$$

We next consider the contribution of the terms I_3, I_4, I_8 , of the last term of the right hand side of (2.7), and of the last two terms of the right hand side of (2.9). We have

(2.10)

$$\begin{aligned}
&\lambda^2 |u|^2 u^2 \bar{v} + i\lambda (\partial u)^2 \bar{u} - i\lambda v^2 \bar{u} - \lambda^2 |u|^4 \partial u + \frac{i\lambda^3}{4} |u|^6 u - \lambda^2 |u|^2 u^2 \partial \bar{u} \\
&= i\lambda ((\partial u)^2 + i\lambda |u|^2 u \partial u - v^2) \bar{u} - \lambda^2 |u|^2 u^2 (\partial \bar{u} - \bar{v}) + \frac{i\lambda^3}{4} |u|^6 u \\
&= i\lambda ((\partial u + \frac{i\lambda}{2} |u|^2 u)^2 - v^2) \bar{u} - \lambda^2 |u|^2 u^2 \overline{\partial(u + \frac{i\lambda}{2} |u|^2 u - v)} \\
&= i\lambda (w^2 - v^2) \bar{u} - \lambda^2 |u|^2 u^2 (\bar{w} - \bar{v}).
\end{aligned}$$

By the gauge condition $F(e^{i\theta} \psi) = e^{i\theta} F(\psi)$, $\theta \in \mathbb{R}$, we see that $F(|\psi|) = F(\frac{|\psi|}{\psi} \psi) = \frac{|\psi|}{\psi} F(\psi)$. Hence $F(\psi)$ is written as

$$(2.11) \quad F(\psi) = G(|\psi|^2) \psi$$

if we put $G(s^2) = \begin{cases} F(s)/s & \text{for } s > 0, \\ 0 & \text{for } s = 0. \end{cases}$

By using (2.11) the last term of the right hand side of (2.6) I_9 is rewritten as

$$\begin{aligned}
I_9 &= \frac{i}{2} \lambda (2G(|u|^2) |u|^2 u - \bar{G}(|u|^2) |u|^2 u) \\
&\quad + (G'(|u|^2) u \cdot \bar{u} + G(|u|^2)) (\partial u - v) + G'(|u|^2) u \cdot u (\partial \bar{u} - \bar{v}),
\end{aligned}$$

where $G'(|u|^2) = \partial_{|u|^2} G(|u|^2)$.

From the condition that there exists a function $H \in C^1(\mathbb{R}^2; \mathbb{R})$ satisfying $F(\zeta) = \partial H / \partial \bar{\zeta}$, it follows that $G = \bar{G}$. Hence

$$\begin{aligned}
 (2.12) \quad I_9 &= G'(|u|^2)|u|^2(\partial u + \frac{i}{2}\lambda|u|^2u - v) \\
 &\quad + G(|u|^2)(\partial u + \frac{i}{2}\lambda|u|^2u - v) + \overline{G'(|u|^2)u^2(\partial u + \frac{i}{2}\lambda|u|^2u - \bar{v})} \\
 &= G'(|u|^2)|u|^2(w - v) + G(|u|^2)(w - v) + G'(|u|^2)u^2(\bar{w} - \bar{v}) \\
 &= \partial_u F(w - v) + \partial_{\bar{u}} F(\bar{w} - \bar{v}).
 \end{aligned}$$

By (2.6), (2.7), (2.9), (2.10) and (2.12)

$$\begin{aligned}
 (2.13) \quad L(w - v) &= \sum_{j=1}^9 I_j \\
 &= 2i\lambda u \partial u (\bar{w} - \bar{v}) + i\lambda u^2 \partial (\bar{w} - \bar{v}) - \frac{\lambda^2}{2}|u|^2(w - v) + i\lambda(w^2 - v^2)\bar{u} \\
 &\quad - \lambda^2|u|^2u^2(\bar{w} - \bar{v}) + \partial_u F(w - v) + \partial_{\bar{u}} F(\bar{w} - \bar{v}).
 \end{aligned}$$

Multiplying both sides of (2.13) by $\bar{w} - \bar{v}$, taking the imaginary part, and integrating over space with integration by parts for the second term of the right hand side of (2.13), we obtain

$$\begin{aligned}
 \frac{d}{dt} \|w - v\|_2^2 &\leq (2|\lambda| \|u\|_\infty \|\partial u\|_\infty + 2|\lambda| \|w + v\|_\infty \|u\|_\infty \\
 &\quad + 2\lambda^2 \|u\|_\infty^4 + \|\partial_u F\|_\infty + \|\partial_{\bar{u}} F\|_\infty) \|w - v\|_\infty
 \end{aligned}$$

from which we have

$$\begin{aligned}
 \|w - v\|_2^2 &\leq \|w(0) - v(0)\|_2^2 \\
 &\quad \times \exp\left(C \int_0^t (\|u\|_\infty \|\partial u\|_\infty + \|u\|_\infty \|v\|_\infty + \|u\|_\infty^4 + \|u\|_\infty^{p_1-1} + \|u\|_\infty^{p_2-1}) ds\right)
 \end{aligned}$$

This implies the desired identity (2.3). Therefore we have the proposition.

We next prove

Proposition 2.5. *We assume that $u_0 \in H^1$, $v_0 \in L^2$ satisfy the conditions*

$$\|u_0\|_2^2 < 2\pi/|\lambda|$$

and

$$v_0 = \partial u_0 + i\frac{\lambda}{2}|u_0|^2 u_0.$$

Then there exist unique solutions u, v of (2.1) such that

$$(2.14) \quad \begin{cases} u \in C([0, T]; H^1) \cap L^4(0, T; W^{1, \infty}) \\ v \in C([0, T]; L^2) \cap L^4(0, T; L^\infty) \\ v = \partial u + i\frac{\lambda}{2}|u|^2 u \quad \text{in } C([0, T]; L^2) \end{cases}$$

for the same time T as that given in Proposition 2.1. Moreover, the map $u_0 \mapsto u$ is continuous from $\{u_0 \in H^1; \|u_0\|_2^2 < 2\pi/|\lambda|\}$ with topology induced from H^1 to $C([0, T]; H^1) \cap L^4(0, T; W^{1, \infty})$.

Proof. We let $u_0^{(n)} \in H^2$, $v_0^{(n)} \in H^2$ satisfy $\|u_0^{(n)}\|_2 = \|u_0\|_2$ for any $n \in \mathbb{N}$ and $\|u_0^{(n)} - u_0\|_2 + \|v_0^{(n)} - v_0\|_2 \rightarrow 0$ as $n \rightarrow \infty$. Then by Proposition 2.4 we see that there exist unique solutions $u^{(n)}, v^{(n)}$ of (2.1) with the data $u^{(n)}(0) = u_0^{(n)}$, $v^{(n)}(0) = v_0^{(n)}$ satisfying

$$(2.15) \quad \begin{cases} u^{(n)}, v^{(n)} \in C([0, T]; H^2) \cap L^4(0, T; W^{2, \infty}) \\ v^{(n)} = \partial u^{(n)} + i\frac{\lambda}{2}|u^{(n)}|^2 u^{(n)} \quad \text{in } C([0, T]; L^2) \end{cases}$$

From Proposition 2.3 it follows that

$$(2.16) \quad \lim_{n \rightarrow \infty} u^{(n)} = u \quad \text{and} \quad \lim_{n \rightarrow \infty} v^{(n)} = v \quad \text{strongly in } C([0, T]; L^2) \cap L^4(0, T; L^\infty)$$

where u, v are the unique solutions to (2.1) with the data $u(0) = u_0$, $v(0) = v_0$. Hence Proposition 2.5 is obtained by showing

$$(2.17) \quad \begin{cases} u \in C([0, T]; H^1) \cap L^4(0, T; W^{1, \infty}) \\ v = \partial u + i\frac{\lambda}{2}|u|^2 u \quad \text{in } C([0, T]; L^2). \end{cases}$$

We now prove (2.17).

By the second line of (2.15) and the first identity of (2.1) we have

$$(2.18) \quad Lu^{(n)} = -i\lambda(u^{(n)})^2 \partial \bar{u}^{(n)} - \frac{\lambda^2}{2}|u^{(n)}|^4 u^{(n)} + F(u^{(n)}).$$

Multiplying both sides of (2.18) by $\bar{u}^{(n)}$, taking the imaginary part, and integrating in x , we obtain

$$(2.19) \quad \|u^{(n)}(t)\|_2 = \|u_0^{(n)}\|_2 = \|u_0\|_2,$$

where we have used the condition (1.3).

We put

$$\psi_j^{(n)} = G_n^{-(6-j)/4} u^{(n)}, \quad j = 2, 3, \dots, 6$$

with

$$G_n = \exp(-i \frac{\lambda}{2} \int_{-\infty}^{\infty} |u^{(n)}|^2 dy),$$

then it is clear that

$$\psi_j^{(n)} = G_n^{-1/4} \psi_{j+1}^{(n)}.$$

Hence

$$(2.20) \quad \partial \psi_j^{(n)} = G_n^{-1/4} (i \frac{\lambda}{8} |u^{(n)}|^2 \psi_{j+1}^{(n)} + \partial \psi_{j+1}^{(n)}),$$

from which it follows that

$$(2.21) \quad \begin{aligned} \|\partial \psi_j^{(n)}\|_2^2 &= \|\partial \psi_{j+1}^{(n)}\|_2^2 + \frac{\lambda}{4} \operatorname{Im}(|u^{(n)}|^2 \psi_{j+1}^{(n)}, \partial \psi_{j+1}^{(n)}) \\ &\quad + \frac{\lambda^2}{4} \| |u^{(n)}|^2 \psi_{j+1}^{(n)} \|_2^2 \\ &\geq \|\partial \psi_{j+1}^{(n)}\|_2^2 - \frac{|\lambda|}{4} \|\psi_{j+1}^{(n)}\|_6^3 \|\partial \psi_{j+1}^{(n)}\|_2, \end{aligned}$$

since

$$(2.22) \quad |u^{(n)}| = |\psi_j^{(n)}| = |\psi_{j+1}^{(n)}|.$$

We apply the Gagliardo-Nirenberg inequality of the form

$$(2.23) \quad \|f\|_6^6 \leq \frac{4}{\pi^2} \|\partial f\|_2^2 \|f\|_2^4$$

to (2.21) to obtain

$$\|\partial \psi_j^{(n)}\|_2^2 \geq (1 - \frac{|\lambda|}{2\pi} \|\psi_{j+1}^{(n)}\|_2^2) \|\partial \psi_{j+1}^{(n)}\|_2^2.$$

We use (2.19) and (2.21) to see that

$$\|\partial\psi_j^{(n)}\|_2^2 \geq \left(1 - \frac{|\lambda|}{2\pi}\|u_0\|_2^2\right)\|\partial\psi_{j+1}^{(n)}\|_2^2$$

from which and the condition $\|u_0\|_2^2 < 2\pi/|\lambda|$ it follows that

$$(2.24) \quad \|\partial\psi_{j+1}^{(n)}\|_2^2 \leq \left(1 - \frac{|\lambda|}{2\pi}\|u_0\|_2^2\right)^{-1}\|\partial\psi_j^{(n)}\|_2^2.$$

The definition of $\psi_j^{(n)}$ implies

$$(2.25) \quad \partial\psi_2^{(n)} = G_n^{-1}v^{(n)} \quad \text{and} \quad \psi_8^{(n)} = u^{(n)}.$$

By (2.24) and (2.25)

$$(2.26) \quad \|\partial\psi_{j+1}^{(n)}\|_2 \leq \left(1 - \frac{|\lambda|}{2\pi}\|u_0\|_2^2\right)^{-(j-1)/2}\|v^{(n)}\|_2$$

for $j = 1, 2, \dots, 5$.

We now prove $\{u^{(n)}\}$ is a Cauchy sequence in $C([0, T]; H^1)$. By using (2.20) and (2.22) we write

$$\begin{aligned} \partial\psi_j^{(n)} - \partial\psi_j^{(m)} &= G_n^{-1/4} \left(i \frac{\lambda}{8} (|\psi_{j+1}^{(n)}|^2 \psi_{j+1}^{(n)} - |\psi_{j+1}^{(m)}|^2 \psi_{j+1}^{(m)}) + \partial\psi_{j+1}^{(n)} - \partial\psi_{j+1}^{(m)} \right) \\ &\quad + (G_n^{-1/4} - G_m^{-1/4}) \left(i \frac{\lambda}{8} |\psi_{j+1}^{(m)}|^2 \psi_{j+1}^{(m)} + \partial\psi_{j+1}^{(m)} \right). \end{aligned}$$

From the mean value theorem and the Schwarz inequality we have

$$(2.27) \quad \begin{aligned} &\|\partial\psi_{j+1}^{(n)} - \partial\psi_{j+1}^{(m)}\|_2 \\ &\leq \|\partial\psi_j^{(n)} - \partial\psi_j^{(m)}\|_2 \\ &\quad + C(\|\psi_{j+1}^{(n)}\|_\infty^2 + \|\psi_{j+1}^{(m)}\|_\infty^2)\|\psi_{j+1}^{(n)} - \psi_{j+1}^{(m)}\|_2 \\ &\quad + C(\|\psi_{j+1}^{(m)}\|_6^3 + \|\partial\psi_{j+1}^{(m)}\|_2)(\|u^{(m)}\|_2 + \|u^{(m)}\|_2)\|u^{(n)} - u^{(m)}\|_2. \end{aligned}$$

We apply the Gagliardo-Nirenberg inequality, (2.26) and (2.22) to (2.27) to obtain

$$(2.28) \quad \begin{aligned} &\|\partial\psi_{j+1}^{(n)} - \partial\psi_{j+1}^{(m)}\|_2 \\ &\leq \|\partial\psi_j^{(n)} - \partial\psi_j^{(m)}\|_2 \\ &\quad + C(\|v^{(n)}\|_2\|u^{(n)}\|_2 + \|v^{(m)}\|_2\|u^{(m)}\|_2)\|\psi_{j+1}^{(n)} - \psi_{j+1}^{(m)}\|_2 \\ &\quad + C(\|v^{(m)}\|_2\|u^{(m)}\|_2^2 + \|v^{(m)}\|_2)(\|u^{(n)}\|_2 + \|u^{(m)}\|_2)\|u^{(n)} - u^{(m)}\|_2. \end{aligned}$$

On the other hand we have from

$$\begin{aligned} \psi_j^{(n)} - \psi_j^{(m)} &= G_n^{-(6-j)/4}(u^{(n)} - u^{(m)}) + (G_n^{-(6-j)/4} - G_m^{-(6-j)/4})u^{(m)} \\ (2.29) \quad \|\psi_j^{(n)} - \psi_j^{(m)}\|_2 &\leq \|u^{(n)} - u^{(m)}\|_2 \\ &\quad + C\|u^{(m)}\|_2(\|u^{(n)}\|_2 + \|u^{(m)}\|_2)\|u^{(n)} - u^{(m)}\|_2 \\ &\quad \text{for } j = 2, 3, \dots, 6. \end{aligned}$$

Hence (2.26), (2.28) and (2.29) imply that there exists a positive constant C which does not depend on n, m, j and satisfies

$$\begin{aligned} \|\partial\psi_{j+1}^{(n)} - \partial\psi_{j+1}^{(m)}\|_2 &\leq \|\partial\psi_j^{(n)} - \partial\psi_j^{(m)}\|_2 + C\|u^{(n)} - u^{(m)}\|_2 \\ &\quad \text{for } j = 2, 3, \dots, 5, \end{aligned}$$

from which and (2.25) it follows that

$$(2.30) \quad \|\partial u^{(n)} - \partial u^{(m)}\|_2 \leq \|\partial\psi_2^{(n)} - \partial\psi_2^{(m)}\|_2 + C\|u^{(n)} - u^{(m)}\|_2.$$

In the same way as in the proof of (2.29) we have

$$(2.31) \quad \|\partial\psi_2^{(n)} - \partial\psi_2^{(m)}\|_2 \leq \|v^{(n)} - v^{(m)}\|_2 + C\|v^{(n)}\|_2(\|u^{(n)}\|_2 + \|u^{(m)}\|_2)\|u^{(n)} - u^{(m)}\|_2.$$

Therefore we obtain by (2.30) and (2.31)

$$(2.32) \quad \|\partial u^{(n)} - \partial u^{(m)}\|_2 \leq \|v^{(n)} - v^{(m)}\|_2 + C\|u^{(n)} - u^{(m)}\|_2.$$

This and (2.16) imply $\{u^{(n)}\}$ is a Cauchy sequence in $C([0, T]; H^1)$. Hence,

$$(2.33) \quad \lim_{n \rightarrow \infty} u^{(n)} = u \quad \text{strongly in } C([0, T]; H^1).$$

From (2.33) and the Gagliardo-Nirenberg inequality it is clear that

$$(2.34) \quad \lim_{n \rightarrow \infty} |u^{(n)}|^2 u^{(n)} = |u|^2 u \quad \text{strongly in } C([0, T]; L^2).$$

By (2.16), (2.33) and (2.34) we have the second line of (2.17). The proof of (2.17) is completed by showing

$$(2.35) \quad \partial u \in L^4(0, T; L^\infty).$$

Since $u \in C([0, T]; H^1) \cap L^4(0, T; L^\infty)$, the Gagliardo-Nirenberg inequality gives $|u|^2 u \in L^4(0, T; L^\infty)$. Hence the second line of (2.17) and (2.16) yield (2.35). This completes the proof of Proposition 2.5.

We prove local existence of solutions to the original equation (1.1).

Theorem 2. We assume that $\phi \in H^1(\mathbb{R})$ and $\|\phi\|_2^2 < 2\pi/|\lambda|$. Then there exist a unique solution ψ of (1.1) and a positive constant T such that

$$\psi \in C([0, T]; H^1) \cap L^4(0, T; W^{1, \infty}).$$

Moreover, the map $\phi \mapsto \psi$ is continuous from $\{\phi \in H^1; \|\phi\|_2^2 < 2\pi/|\lambda|\}$ with topology induced from H^1 to $C([0, T]; H^1) \cap L^4(0, T; W^{1, \infty})$.

Proof. For any $\phi \in H^1(\mathbb{R})$ we define u_0 and v_0 as follows:

$$\begin{aligned} u_0 &= \exp(-i\lambda \int_{-\infty}^{\infty} |\phi|^2 dy) \phi, \\ v_0 &= \partial u_0 + \frac{i}{2} \lambda |u_0|^2 u_0. \end{aligned}$$

Then it is clear that $u_0 \in H^1$, $v_0 \in L^2$ and $\|u_0\|_2^2 = \|\phi\|_2^2 < 2\pi/|\lambda|$. Hence by Proposition 2.5 there exist unique solutions u, v of (2.1) satisfying (2.14). We define ψ by

$$(2.36) \quad \psi(t, x) = \exp(i\lambda \int_{-\infty}^{\infty} |u(t, y)|^2 dy) u(t, x).$$

Theorem 2 is established if we prove that ψ satisfies (1.1). By (2.14) and the first equation of (2.1) for u we obtain

$$(2.37) \quad Lu = -i\lambda u^2 \partial \bar{u} - \frac{\lambda^2}{2} |u|^4 u + F(u).$$

A direct calculation and (2.36) give

$$(2.38) \quad L\psi = \exp(i\lambda \int_{-\infty}^{\infty} |u|^2 dy) (Lu + i\lambda (L \int_{-\infty}^{\infty} |u|^2 dy) u + 2i\lambda |u|^2 \partial u - \lambda^2 |u|^4 u).$$

By (2.37)

$$(2.39) \quad \begin{aligned} \partial_t |u|^2 &= 2 \operatorname{Im}(\bar{u}(-\partial^2 u - i\lambda u^2 \partial \bar{u})) \\ &= -\partial(2 \operatorname{Im}(\bar{u} \partial u)) - 2\lambda |u|^2 \operatorname{Re}(u \partial \bar{u}) \\ &= -\partial(2 \operatorname{Im}(\bar{u} \partial u)) + \frac{\lambda}{2} |u|^4, \end{aligned}$$

$$(2.40) \quad \begin{aligned} i\lambda L \int_{-\infty}^{\infty} |u|^2 dy &= -\lambda \int_{-\infty}^{\infty} \partial_t |u|^2 dy + i\lambda \partial |u|^2 \\ &= 2\lambda \operatorname{Im}(\bar{u} \partial u) + \frac{\lambda^2}{2} |u|^4 + i\lambda \partial |u|^2 \quad (\text{by (2.37)}) \\ &= -i\lambda(\bar{u} \partial u - u \partial \bar{u}) + \frac{\lambda^2}{2} |u|^4 + i\lambda(\bar{u} \partial u + u \partial \bar{u}) \\ &= 2i\lambda u \partial \bar{u} + \frac{\lambda^2}{2} |u|^4. \end{aligned}$$

From (2.37)-(2.40) we have

$$\begin{aligned}
(2.41) \quad L\psi &= \exp(i\lambda \int_{-\infty}^{\infty} |u|^2 dy) (-i\lambda u^2 \partial \bar{u} - \frac{\lambda^2}{2} |u|^4 u + F(u)) \\
&\quad + 2i\lambda u^2 \partial \bar{u} + \frac{\lambda^2}{2} |u|^4 u + 2i\lambda |u|^2 \partial u - \lambda^2 |u|^4 u \\
&= \exp(i\lambda \int_{-\infty}^{\infty} |u|^2 dy) (i\lambda u^2 \partial \bar{u} + 2i\lambda |u|^2 \partial u - \lambda^2 |u|^4 u + F(u)) \\
&= \exp(i\lambda \int_{-\infty}^{\infty} |u|^2 dy) (2i\lambda |u|^2 (\partial u + i\lambda |u|^2 u) + i\lambda u^2 (\partial \bar{u} - i\lambda |u|^2 \bar{u}) + F(u)).
\end{aligned}$$

Since

$$\begin{aligned}
\partial \psi &= \exp(i\lambda \int_{-\infty}^{\infty} |u|^2 dy) (\partial u + i\lambda |u|^2 u), \\
|u|^2 &= |\psi|^2 \quad \text{and} \quad u^2 = \psi^2 \exp(-2i\lambda \int_{-\infty}^{\infty} |u|^2 dy),
\end{aligned}$$

we have by (2.41)

$$L\psi = 2i\lambda |\psi|^2 \partial \psi + i\lambda \psi^2 \partial \bar{\psi} + \exp(i\lambda \int_{-\infty}^{\infty} |u|^2 dy) F(u)$$

Gauge condition of F implies the desired identity

$$L\psi = i\lambda \partial (|\psi|^2 \psi) + F(\psi).$$

The last equation makes sense in $C([0, T]; H^{-1})$ and all the computations above are justified in $C([0, T]; H^{-2})$, or we could go through with the computations by using approximate solutions $u^{(n)}$ as in the proof of Proposition 2.5 before limiting procedure at the final stage. This completes the proof of Theorem 2.

We are now in a position to prove Theorem 1.

Proof of Theorem 1. The iterative use of the same argument as that in the proof of Theorem 2 and a priori estimates of solution ψ of (1.1) in H^1 yield Theorem 1. Then it is sufficient to prove

$$(2.42) \quad \sup_{t \in [0, T]} \|\psi(t)\|_{H^1} \leq C(\|\phi\|_{H^1}).$$

We prove (2.42). After a long tedious calculation (see Appendix) we arrive at

$$\frac{d}{dt}(\|\partial\psi\|_2^2 + \frac{3}{2}\lambda \operatorname{Im}(|\psi|^2\psi, \partial\psi) + \frac{1}{2}\lambda^2\|\psi\|_6^6 + \int H(\psi)d\mathbf{x}) = 0$$

from which and (1.3) we have

$$(2.43) \quad \begin{aligned} \|\psi(t)\|_2 &= \|\phi\|_2 \\ E &\equiv \|\partial\psi\|_2^2 + \frac{3}{2}\lambda \operatorname{Im}(|\psi|^2\psi, \partial\psi) + \frac{1}{2}\lambda^2\|\psi\|_6^6 + \int H(\psi)d\mathbf{x} \\ &= \|\partial\phi\|_2^2 + \frac{3}{2}\lambda \operatorname{Im}(|\phi|^2\phi, \partial\phi) + \frac{1}{2}\lambda^2\|\phi\|_6^6 + \int H(\phi)d\mathbf{x}. \end{aligned}$$

By the Gagliardo-Nirenberg inequality and (1.3) we get

$$(2.44) \quad E \leq C(\|\phi\|_{H^1}).$$

We put

$$G = \exp(-i\frac{\lambda}{2} \int_{-\infty}^{\infty} |\psi(t, y)|^2 dy).$$

Then

$$\begin{aligned} \|\partial\psi\|_2^2 + \frac{3}{2}\lambda \operatorname{Im}(|\psi|^2\psi, \partial\psi) &= \|\partial\psi\|_2^2 - \frac{3}{2}\lambda \operatorname{Re}(i|\psi|^2\psi, \partial\psi) \\ &= \|\partial\psi - \frac{3}{4}i\lambda|\psi|^2\psi\|_2^2 - \frac{9}{16}\lambda^2\|\psi\|_6^6 \\ &= \|\partial(G^{3/2}\psi)\|_2^2 - \frac{9}{16}\lambda^2\|\psi\|_6^6. \end{aligned}$$

Hence

$$E = \|\partial(G^{3/2}\psi)\|_2^2 - \frac{1}{16}\lambda^2\|\psi\|_6^6 + \int H(\psi)d\mathbf{x}.$$

By (1.3) we see that

$$E \geq \|\partial(G^{3/2}\psi)\|_2^2 - M(\|\psi\|_2) - (\frac{\lambda^2}{16} + \mu)\|G^{3/2}\psi\|_6^6.$$

We apply (2.23) and (2.43) to the above to obtain

$$E + M(\|\phi\|_2) \geq (1 - \frac{4}{\pi^2}(\frac{\lambda^2}{16} + \mu)\|\phi\|_2^4)\|\partial(G^{3/2}\psi)\|_2^2.$$

From this and (2.44) it follows that

$$(2.45) \quad \|\partial(G^{3/2}\psi)\|_2^2 \leq C(\|\phi\|_{H^1}).$$

We let $\psi_j = G^{(6-j)/4}\psi$ for $0 \leq j \leq 6$. We have by (2.23) and (2.43)

$$\begin{aligned} \|\partial\psi_j\|_2^2 &= \|\partial(G^{1/4}\psi_{j+1})\|_2^2 \\ &= \|G^{1/4}(\partial\psi_{j+1} - \frac{1}{8}i\lambda|\psi|^2\psi_{j+1})\|_2^2 \\ &= \|\partial\psi_{j+1}\|_2^2 - \frac{1}{4}\lambda \operatorname{Im}(\partial\psi_{j+1}, |\psi|^2\psi_{j+1}) + \frac{\lambda^2}{64}\|\psi\|_6^6 \\ &\geq (1 - \frac{|\lambda|}{2\pi}\|\phi\|_2^2)\|\partial\psi_{j+1}\|_2^2. \end{aligned}$$

Therefore

$$(2.46) \quad \|\partial\psi_0\|_2^2 \geq (1 - \frac{|\lambda|}{2\pi}\|\phi\|_2^2)^6\|\partial\psi_6\|_2^2.$$

Since $\psi = \psi_6$, $G^{3/2}\psi = \psi_0$, by (2.45) and (2.46) we have the desired estimate (2.42).

This completes the proof of Theorem 1.

Acknowledgements. One of the authors (N.H.) is grateful to Professors J. Ginibre and M. Fontannaz for their kind hospitality at Laboratoire de Physique Théorique et Hautes Energy, Université de Paris Sud. The authors also would like to thank Professor Y. Tsutsumi for fruitful discussions on the derivative nonlinear Schrödinger equation.

Appendix.

Lemma A. *Let ψ be the solution of (1.1) constructed in Theorem 2. Then we have*

$$\begin{aligned} (a) \quad & \frac{d}{dt}\|\psi\|_2^2 = 0, \\ (b) \quad & \frac{d}{dt}(\|\partial\psi\|_2^2 + \frac{3}{2}\lambda \operatorname{Im}(|\psi|^2\psi, \partial\psi) + \frac{1}{2}\lambda^2\|\psi\|_6^6 + \int H(\psi)d\mathbf{x}) = 0. \end{aligned}$$

Proof. We first note that computation stated below is rather formal, but it can be justified by using H^2 -solutions ψ_k with the data $\phi_k \in H^2$ which satisfy the following continuous dependence such that

$$\lim_{k \rightarrow \infty} \|\phi_k - \phi\|_{H^1} = 0 \quad \text{implies} \quad \lim_{k \rightarrow \infty} \|\psi_k(t) - \psi(t)\|_{H^1} = 0,$$

(see Proposition 2.5). In what follows we use the integration by parts without particular comments. We have by (1.1)

$$\begin{aligned}
\text{(A.1)} \quad \partial_t |\psi|^2 &= 2 \operatorname{Im}(\bar{\psi} i \partial_t \psi) \\
&= 2 \operatorname{Im}(\bar{\psi} (-\partial^2 \psi + i\lambda \partial(|\psi|^2 \psi) + F(\psi))) \\
&= -\partial(2 \operatorname{Im}(\bar{\psi} \partial \psi)) + 2\lambda \operatorname{Re}(\bar{\psi} \partial(|\psi|^2 \psi)).
\end{aligned}$$

Since $\operatorname{Re}(\bar{\psi} \partial(|\psi|^2 \psi)) = \frac{3}{4} \partial |\psi|^4$ we have by (A.1)

$$\text{(A.2)} \quad \partial_t |\psi|^2 = \partial(-\partial \operatorname{Im}(\bar{\psi} \partial \psi) + \frac{3}{2} \lambda |\psi|^4),$$

from which (a) follows.

We have

$$\begin{aligned}
\text{(A.3)} \quad \frac{d}{dt} \|\partial \psi\|_2^2 &= 2 \operatorname{Re}(\partial \psi, \partial_t \partial \psi) \\
&= -2 \operatorname{Re}(\partial^2 \psi, \partial_t \psi) \\
&= -2 \operatorname{Re}(-i \partial_t \psi + i\lambda \partial(|\psi|^2 \psi) + F(\psi), \partial_t \psi) \quad (\text{by (1.1)}) \\
&= 2\lambda \operatorname{Im}(\partial(|\psi|^2 \psi), \partial_t \psi) - 2 \operatorname{Re}(F(\psi), \partial_t \psi) \\
&= -2\lambda \operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi) - \frac{d}{dt} \int H(\psi) dx \\
&\quad (\text{by the condition of } F).
\end{aligned}$$

We next consider the first term of the right hand side of (A.3). We have

$$\begin{aligned}
\text{(A.4)} \quad -\operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi) &= -\frac{d}{dt} (\operatorname{Im}(|\psi|^2 \psi, \partial \psi)) \\
&\quad + \operatorname{Im}((\partial_t |\psi|^2) \psi, \partial \psi) + \operatorname{Im}(|\psi|^2 \partial_t \psi, \partial \psi).
\end{aligned}$$

We apply (A.2) to the second term of the right hand side of (A.4) to obtain

$$\begin{aligned}
\text{(A.5)} \quad \operatorname{Im}((\partial_t |\psi|^2) \psi, \partial \psi) &= \operatorname{Im}((\partial(-2 \operatorname{Im}(\bar{\psi} \partial \psi) + \frac{3}{2} \lambda |\psi|^4)) \psi, \partial \psi) \\
&= 2(\partial(\operatorname{Im} \bar{\psi} \partial \psi), \operatorname{Im} \bar{\psi} \partial \psi) + \frac{3}{2} \lambda \operatorname{Im}((\partial |\psi|^4) \psi, \partial \psi) \\
&= -\frac{3}{2} \lambda \operatorname{Im}(|\psi|^4 \psi, \partial^2 \psi)
\end{aligned}$$

By using (1.1) in the third term of the right hand side of (A.4), we have

$$\begin{aligned}
(A.6) \quad & \operatorname{Im}(|\psi|^2 \partial_t \psi, \partial \psi) \\
&= -\operatorname{Im}((\partial |\psi|^2) \partial_t \psi, \psi) - \operatorname{Im}(|\psi|^2 \partial_t \partial \psi, \partial \psi) \\
&= \operatorname{Re}(\partial |\psi|^2 \cdot (-\partial^2 \psi + i\lambda \partial(|\psi|^2 \psi) + F(\psi)), \psi) + \operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi) \\
&= -\operatorname{Re}(\partial |\psi|^2 \cdot \partial^2 \psi, \psi) - \lambda \operatorname{Im}(\partial |\psi|^2 \cdot \partial(|\psi|^2 \psi), \psi) + \operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi)
\end{aligned}$$

Since

$$\begin{aligned}
& \operatorname{Re}(\partial(|\psi|^2 \psi), \partial^2 \psi) \\
&= \operatorname{Re}(\partial |\psi|^2 \cdot \psi, \partial^2 \psi) + \operatorname{Re}(|\psi|^2 \partial \psi, \partial^2 \psi) \\
&= \operatorname{Re}(\partial |\psi|^2 \cdot \partial^2 \psi, \psi) - \frac{1}{2}(\partial |\psi|^2, |\partial \psi|^2) \\
&= \operatorname{Re}(\partial |\psi|^2 \cdot \partial^2 \psi, \psi) - \frac{1}{2}(\partial |\psi|^2, \frac{1}{2} \partial^2 |\psi|^2 - \operatorname{Re}(\bar{\psi} \partial^2 \psi)) \\
&= \frac{3}{2} \operatorname{Re}(\partial |\psi|^2 \cdot \partial^2 \psi, \psi),
\end{aligned}$$

the first term of the right hand side of (A.6) is written as

$$\begin{aligned}
(A.7) \quad & -\operatorname{Re}(\partial |\psi|^2 \cdot \partial_t \psi, \psi) \\
&= -\frac{2}{3} \operatorname{Re}(\partial(|\psi|^2 \psi), \partial^2 \psi) \\
&= -\frac{2}{3} \operatorname{Re}(\partial(|\psi|^2 \psi), -i\partial_t \psi + i\lambda(|\psi|^2 \psi) + F(\psi)) \quad (\text{by (1.1)}) \\
&= \frac{2}{3} \operatorname{Im}(\partial(|\psi|^2 \psi), \partial_t \psi) \quad (\text{by the condition of } F) \\
&= -\frac{2}{3} \operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi)
\end{aligned}$$

By (A.4), (A.6) and (A.7)

$$\begin{aligned}
-\operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi) &= -\frac{d}{dt}(\operatorname{Im}(|\psi|^2 \psi, \partial \psi)) - \frac{3}{2} \lambda \operatorname{Im}(|\psi|^4 \psi, \partial^2 \psi) \\
&\quad - \lambda \operatorname{Im}(\partial |\psi|^2 \cdot \partial(|\psi|^2 \psi), \psi) + \frac{1}{3} \operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi) \\
&= -\frac{d}{dt}(\operatorname{Im}(|\psi|^2 \psi, \partial \psi)) + 2\lambda \operatorname{Im}(|\psi|^4 \partial^2 \psi, \psi) + \frac{1}{3} \operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi).
\end{aligned}$$

From above it follows that

$$(A.8) \quad -\operatorname{Im}(|\psi|^2 \psi, \partial_t \partial \psi) = -\frac{3}{4} \frac{d}{dt}(\operatorname{Im}(|\psi|^2 \psi, \partial \psi)) + \frac{3}{2} \lambda \operatorname{Im}(|\psi|^4 \partial^2 \psi, \psi).$$

From (A.3) and (A.8) it follows that

$$(A.9) \quad \frac{d}{dt} \|\partial\psi\|_2^2 = -\frac{3}{2}\lambda \frac{d}{dt} (\operatorname{Im}(|\psi|^2\psi, \partial\psi)) + 3\lambda^2 \operatorname{Im}(|\psi|^4\partial^2\psi, \psi) + \frac{d}{dt} \int H(\psi) dx.$$

On the other hand we have by (1.1)

$$(A.10) \quad \begin{aligned} \operatorname{Im}(|\psi|^4\partial^2\psi, \psi) &= \operatorname{Im}(|\psi|^4(-i\partial_t\psi + i\lambda\partial(|\psi|^2\psi) + F(\psi)), \psi) \\ &= -\operatorname{Re}(|\psi|^4\partial_t\psi, \psi) + \lambda \operatorname{Re}(|\psi|^4(\partial|\psi|^2 \cdot \psi + |\psi|^2\partial\psi), \psi) \\ &= -\frac{1}{6} \frac{d}{dt} \|\psi\|_6^6. \end{aligned}$$

Hence (A.9) and (A.10) yield the desired identity (b).

References

- 1 G. Boling and T. Shaobin, *On smooth solutions to the initial value problem for the mixed nonlinear Schrödinger equations*, Proc. Royal Soc. Edinburgh 119 A (1991), 31-45.
- 2 Y.M. Chen, *The initial-boundary value problem for a class of nonlinear Schrödinger equations*, Acta Math. Sci. 6 (1986), 405-418.
- 3 N. Hayashi, *The initial value problem for the derivative nonlinear Schrödinger equation*, Nonlinear Anal. TMA, in press.
- 4 N. Hayashi and T. Ozawa, *On the derivative nonlinear Schrödinger equation*, Physica D 55 (1992), 14-36.
- 5 N. Hayashi and T. Ozawa, *Remarks on nonlinear Schrödinger equations in one space dimension*, preprint, Hokkaido (1992).
- 6 N. Hayashi and Y. Tsutsumi, *Remarks on the scattering problem for nonlinear Schrödinger equations*, Lecture Notes in Math. Vol. 1285, 162-168, Springer (1987).
- 7 T. Kato, *On nonlinear Schrödinger equations*, Ann. Inst. Henri Poincaré, Phys. Théor., 46 (1987), 113-129.
- 8 T. Kato, *Nonlinear Schrödinger equations*, in "Schrödinger Operators," Lecture Notes in Phys., Vol. 345, Springer (1989).
- 9 M. Tsutsumi and I. Fukuda, *On solutions of the derivative nonlinear Schrödinger equation II*, Funkcialaj Ekvacioj 24 (1981), 85-94.

- 10 Y. Tsutsumi, *L^2 -solutions for nonlinear Schrödinger equations and nonlinear groups*, Funkcialaj Ekvacioj **30** (1987), 115-125.
- 11 Y. Tsutsumi, *Global strong solitons for nonlinear Schrödinger equations*, Nonlinear Anal. TMA **11** (1987), 1143-1154.